Lesson Plan

Mathematics Course:   _x__ 8th Math   ___ Math 1 (9th)   ___ Math 2 (10th)

Title of Lesson ____Reviewing  Slope____________

Unit ___2___________________________________

Purpose within unit (include information to help place this lesson within the unit):
        ____ Exploration  __x__ Direct Instruction  ____ Culminating Task

Georgia Performance Standard 
M8A4. Students will graph and analyze graphs of linear equations and inequalities.

b. Determine the meaning of the slope and y-intercept in a given situation.


g. Solve problems involving linear relationships.

Objective for This Class Period: 
Students will use the slope-intercept formula to determine the value of a slope.
Essential Question(s)

How do I use the slope-intercept formula to determine the value of a slope?

Resources (including attached activity sheets or link to resource, additional materials needed, etc.)
5 - Question Mixed Review

Activating Strategy

Activity
Review

Ticket Out the Door

Timing outline 
Distribute  mixed review handout as students enter the room. Set the timer and allow 5 minutes to complete the 5 question mixed review.

Discuss the mixed review and do the activating strategy. 15 minutes
Begin the lesson with the activity
5-Question Mixed Review 
Write the slope of a line.

1. (3, 6) and (-1, 4)



Answer:  ½

2. (1, 2) and (6, 1)



Answer:  -1/5

3. (4, 6) and (2, -1)



Answer : 7/2
Write each equation in slope-intercept form, and then find the slope and y-intercept.
4. 2y – 6x = -10




Answer: y = 3x-5; m=3; b=-5

5. -5y - 15x = 30



Answer: y = -3x – 6; m = -3; b = -6

Activating Strategy: (15 minutes)
When you jog, you burn 3 calories/min. When you run, you burn 4 calories/min. Write an equation to find the times you would need to run and jog in order to burn 12 calories." Explain to the students that "x" represents minutes spend jogging and "y" represents minutes spent running. Explain that relating this information to an equation would be: 3x + 4y = 12. (Answer: x-intercept = 4, y-intercept = 3) Remind students of the slope formula, slope-intercept formula, and point-slope formula.
Activity: (15 minutes)
SEE-SAY-DO: Read the sentence: "Slope equals vertical change (rise) divided by horizontal change (run). Have students read the sentence aloud as they rise up out of their desk and run left to right across the room. 

Read the "slope equation" in sentence form: "Slope equals vertical change "y2 minus y1 divided by x2 minus  x1 (where x2 and x1 is not equal to 0)." Have the students read the sentence aloud. Using a yard stick have the y subs stand in front and the x subs in back with the yard stick in the middle to represent the fraction bar.
Read the sentence: "Rate of change equals change in dependent variable (vertical change) divided by the change in independent variable (horizontal change). Have the students read the sentence aloud. Therefore, "Rate of change equals Slope." 

Ask the students: "Find the slope of the line passing through each pair of points (-3,-1)(-1,5)." Ask the students: "How would they place these coordinates in the "slope equation. 

Model the equation on the board: "Slope equals vertical change "y2 minus y1 divided by x2 minus x1 (where x2 minus x1 is not equal to 0)." Have the class to repeat the equation sentence: (5) - (-1) / (-1) - (-3).
Have students make up lyrics/rap for a slope formula.

Example:

To the tune of Snoopy Dogs song:
I’m gonna take my time, as we talk about lines.

I’m gonna take it sloooooow so all of you will know.

You gotta take y2 – y1 now put that over x2 – x1 oooooh
Ask if there are any questions.

Remind the students that a number cannot be divided by zero. Explain to the students that if y2 - y1 = 0, then the slope is a "horizontal line", and if x2 - x1 = 0, then the slope is a vertical line and is considered "undefined".
Mixed Review: (15 minutes)
BRAINSTORM: Tell the students that today's lesson is to review "Slopes" and "Rates of Change". Have students brainstorm other situations, such as airplane flight landings or takeoffs, which it is more practical to explain slopes and rates of change and to determine the steepness of slopes and rates of change by viewing and recording this data. Remind students that the dependant variable goes in the numerator and the independent variable goes in the denominator. Point out that by convention we read slopes from left to right. (When lines rise from left to right, its slope is "positive", and when lines fall from left to right, its slope is "negative")
Ticket out the door:

Students will correctly solve five slope and rate of change problems provided by teacher.
5-Question Mixed Review 

Write the slope of a line.

1. (3, 6) and (-1, 4)



2. (1, 2) and (6, 1)

3. (4, 6) and (2, -1)




Write each equation in slope-intercept form, and then find the slope and y-intercept.
4. 2y – 6x = -10



5. -5y - 15x = 30





